

$$\frac{1}{r}, 1, 2, \dots \rightarrow a_1 = \frac{1}{r}, q = 2 \rightarrow a_n = \frac{1}{r} \times 2^{n-1}$$

$$a_{10} = ? \rightarrow a_{10} = \frac{1}{r} \times 2^9 = 2^9 = 512$$

$$\frac{\frac{1}{r} \times 2^{14}}{\frac{1}{r} \times 2^{12}} = \frac{2^{14}}{2^{12}} = 2^2 = 4$$

$$\frac{1}{r} \times 2^n = \frac{1}{r} \times 2^{n-1} \times 2 \rightarrow 2^n = 2^{n-1} \times 2 \Rightarrow n = n-1 + 1 \Rightarrow n = n$$

1

$$(a, q^r)(a, q^q) = x^r \rightarrow x^r = \frac{1}{r} \times \frac{1}{r} \times 2^r \times 2^q \rightarrow x^r = 2^{r+q} \Rightarrow x = 2^{\frac{r+q}{r}} = 2^{\frac{10}{2}} = 2^5 = 32$$

$$a_{10} = 12$$

$$a_n = 94$$

$$\frac{a_n}{a_{10}} = q^r = \frac{94}{12} = 8 \rightarrow q = 2$$

$$a_{10} = a_1 q^9 \Rightarrow a_1 \times 2^9 = 12 \Rightarrow a_1 = \frac{12}{2^9} = \frac{3}{2^7}$$

$$a_n = a_1 \times q^{n-1} \rightarrow a_n = \frac{3}{2^7} \times 2^{n-1}$$

$$a_{10} = \frac{3}{2^7} \times 2^9 = 3 \times 2^2 = 12$$

2

$$a_1 \times a_2 \times a_3 \times a_4 \times a_5 = 2^4 \times 3 \Rightarrow a_1 \times a_2 \times a_3 \times a_4 \times a_5 = 2^4 \times 3 \Rightarrow a_5 = 2^4 \times 3 \Rightarrow a_5 = 48$$

$$a_1 \times a_5 = a_2 \times a_4 = a_3 \times a_3 = 3 \times 3 = 9$$

3

$$r^a, r^b, r^c \rightarrow \text{اطلاعات} = C^r = ab \Rightarrow r^a \times r^b = (r^r)^2 \Rightarrow r^{a+b} = r^2 \Rightarrow a+b = 2$$

$$C = \frac{a+b}{r} \Rightarrow C = \frac{2}{r} = 2/r$$

4

$$\frac{a_v}{a_r} = \frac{x}{1-x} = q^f, \frac{a_{11}}{a_v} = \frac{x+1}{x} = q^f$$

$$q^f = q^f \Rightarrow \frac{x+1}{x} = \frac{x}{1-x} \Rightarrow x^2 = 1 - x^2 \Rightarrow 2x^2 = 1 \Rightarrow x^2 = \frac{1}{2} \Rightarrow x = \frac{1}{\sqrt{2}} = \frac{\sqrt{2}}{2}$$

$$x = -\frac{\sqrt{2}}{2} \Rightarrow \frac{-\frac{\sqrt{2}}{2}}{1 + \frac{\sqrt{2}}{2}} = - = q^f \times$$

$$x = +\frac{\sqrt{2}}{2} \Rightarrow \frac{\frac{\sqrt{2}}{2}}{1 - \frac{\sqrt{2}}{2}} = + = q^f \checkmark$$

$$\Rightarrow x = +\frac{\sqrt{2}}{2}$$

5

$$a_1 + a_1 r^n = 2n \Rightarrow a_1(r^n + 1) = 2n, \quad a_1 r + a_1 r^2 = 12 \Rightarrow a_1 r(1+r) = 12 \Rightarrow \frac{a_1(r^n + 1)}{a_1 r(1+r)} = \frac{2n}{12} = \frac{1}{3}$$

$$\Rightarrow \frac{(1+r)(r^n - r + 1)}{r(r+1)} = \frac{1}{3} \Rightarrow 3(r^n - r + 1) = r(r+1) \Rightarrow 3r^n - 3r + 3 = r^2 + r \Rightarrow 3r^n - 4r + 3 = 0$$

$$\Rightarrow r = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a} \Rightarrow r = \frac{4 \pm \sqrt{16 - 36}}{4} = r = \frac{4 \pm 1}{4} \begin{cases} \frac{4+1}{4} = \frac{5}{4} = 1.25 \rightarrow a_1 = 1 \rightarrow 1, 1.25, 1.5625 \\ \frac{4-1}{4} = \frac{3}{4} = 0.75 \rightarrow a_1 = 12 \rightarrow 12, 9, 6.75 \end{cases}$$

$\Rightarrow$ مقدار r = 1.25 مقدار r = 0.75

$$\frac{x}{q} \times x \times 2q = 2V \Rightarrow x^2 = 2V \Rightarrow x = \sqrt{2V} \Rightarrow \frac{1}{q} + 1 + q = \frac{12}{\sqrt{2V}} \Rightarrow \frac{1+q+q^2}{q} = \frac{12}{\sqrt{2V}}$$

$$\frac{x}{q} + x + 2q = 12 \Rightarrow x(\frac{1}{q} + 1 + q) = 12$$

$$\Rightarrow 3 + 3q + 3q^2 = 12q \Rightarrow 3q^2 - 6q + 3 = 0 \Rightarrow q = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a} \Rightarrow \frac{6 \pm \sqrt{36 - 36}}{6} \Rightarrow q = 1$$

$$\Rightarrow \begin{cases} q = \frac{6+1}{6} \Rightarrow q = \frac{7}{6} \rightarrow a_1 q = 12 \rightarrow a_1 = 1 \Rightarrow 1, \frac{7}{6}, \frac{49}{36} \\ q = \frac{6-1}{6} \Rightarrow q = \frac{5}{6} \rightarrow a_1 q = 12 \rightarrow a_1 = 1 \Rightarrow 1, \frac{5}{6}, \frac{25}{36} \end{cases}$$

$$S_n = a_1 \left(\frac{q^n - 1}{q - 1} \right) \Rightarrow S_{10} = a_1 \left(\frac{q^{10} - 1}{q - 1} \right) = 2 \left(\frac{q^{10} - 1}{q - 1} \right) \Rightarrow S_{10} = \frac{q^{10} - 1}{q - 1} \Rightarrow \omega q \circ f \Lambda$$

$$a_n = a_1 q^{n-1} \Rightarrow a_n = 2 \times 3^{n-1} \rightarrow a_{10} = 2 \times 3^9$$

$$\text{مقدار } a_1 = (a_1 \times a_n)^{\frac{1}{n}} \Rightarrow (2 \times 2 \times 3^9)^{\frac{1}{10}} = (2^2 \times 3^9)^{\frac{1}{10}} = 2^{\frac{2}{10}} \times 3^{\frac{9}{10}}$$

$$\Rightarrow a_1, a_1 q, a_1 q^2, a_1 q^3$$

$$\Rightarrow a_1 q - a_1, a_1 q^2 - a_1 q, a_1 q^3 - a_1 q^2 \Rightarrow a_1(q-1), a_1 q(q-1), a_1 q^2(q-1)$$

$$\Rightarrow \text{مقدار } a_1, (q-1) \rightarrow \text{مقدار } a_1, (q-1)$$

$$\text{الف) } a_n = a_1 + (n-1)d \rightarrow a_1 + (a_1 + d) + (a_1 + 2d) + \dots + (a_1 + (n-1)d)$$

$$\Rightarrow na_1 + \frac{(n-1)(n)}{2} d \Rightarrow na_1 + \frac{n^2 - n}{2} d \Rightarrow na_1 + \frac{n(n-1)}{2} d \xrightarrow{\frac{n}{2}} \frac{n}{2} (2a_1 + (n-1)d) \checkmark$$

$$S_n = a_1 + a_1 q + a_1 q^2 + \dots + a_1 q^{n-1}$$

$$S_n = a_1 + a_1 q + a_1 q^2 + \dots + a_1 q^{n-1}$$

$$S_n q - S_n = a_1 q^n - a_1 \Rightarrow S_n (q-1) = a_1 (q^n - 1) \Rightarrow S_n = a_1 \frac{(q^n - 1)}{(q - 1)} \checkmark$$